A* GCSE – Essential Skills 3Mark:
Name:

Show all of your working out (use a separate sheet if required) 
	1
	
Write the following in the form 



[bookmark: _GoBack]Hence find the minimum point of 








	

	2*
(104)
	Work out the missing length to 3sf
[image: ]







	

	3
(95)
	Rationalise the denominator:














	

	4
(90)
	Calculate the angles x,y and z 
[image: ]

	

	5
(98)
	The area of the shape is 60cm2. Form a quadratic equation and use it to find the value of x.
[image: ]









	

	6*
(101)
	Solve simultaneous equation (linear/quadratic)









	

	7
(100)
	Make c the subject of the formula







	

	8
(111)
	Prove that, if the difference of two numbers is 4, then the difference of their squares is a multiple of 8.








	

	9*
(104)
	Work out the missing angle to the nearest degree 
[image: ]





	

	10
(108)
	[image: ]OABC is a square. Point D cuts the line AB in the ratio 2:1. Point E is the midpoint of BC.



By first finding  and , find the vector 








	

	11
(92)
	There are 3 digestives and 5 custard creams in a biscuit tin. Oakley takes two at random. Work out the probability that she gets one of each. (Draw tree diagram on separate sheet if required)



	

	12
(99)
	Simplify fully








	

	13
(94)
	Find the value of x








	

	14
(102)
	[image: ]

Write down the minimum point of 

	

	15*
(99)
	Solve the following equation:
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